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i = 1/PART - ]
o P v P B
AND TEACHING METHOD
1.

Kohler is pesociated with which of the

fallomn g >
Theory of Motivatioll

4] Theory of Development
According 1o McDougatl the number of

mshincis-are

(k) IS
@& 1D
L
14

Brainatermung Model of Teaching is
used o improve which of the following ?
{1) Und=rstending

(21 Problem solving

3} Creativity

1% Apphcation

oxporancE ?
(1} Skinmer
(5 Kohisr
(3 Thomdike
4] Pavov-

compontats o which of e ki b
(1} Intelfiprnce cllowing 2

-3



7. AT AT R 9 5
#e g
(1) sl we

() ST A
(3] it o=
(4) e afErey we

ST T o 1 e e e 2
w7

(1) wfEe e | T Fam

() e i T e

By

T

0.

Factors affecting the social developmen
of children are

(1} Ecenomic elements
[Z) Hereditary olemenis
(3 Fhysical elements

14 Spgial environmentol elements

Which of the following I8 a primary law
of Physical Development 7

(1) Law of difference from mental
development

Law -of relation from imagination
and emotional development

Law of rapid growth «
Law of iTegular development

{3

(3
(]

Which of the following is not the theory
af development ? '
(1) Theory of Conditioned Reflex

{2) Theory of Uniform Pattern

(d) Theory of Interrelation

(4] Theary of Continuous Growth

“Development resulis in new

characteristics and new ahilities” this
mﬂthwhy

A
-------



13, shu g e e R T
(1) 7a-79
(2) llﬁ—l_lq
[@3) 90 - 108
{4) 80 -84

14, G d e Bty g s
(1) -
{2) TEmm

........
o

e R " w e is the stage ofs
& Topoges hgr



19, Hﬁﬂﬂ'iﬁﬁqiﬂlﬁfﬂﬂimt-r
(1) sfimmon
) FEm
3) eI

el (4) #=

20. NwEEE A
(1) 1297 1B T9FF
Iﬂ,‘l lﬁ‘_ﬂﬁﬁi

19, Which of the following is most essentig
for learning ¥
(1] Maotivation
(2] Guidence
(3] Matiration
%] Interest

20. The period of infancyhood |s
(1} From 12 years to 15 years
{2} Upto 15 years
3] From birth to & years
(4} From birth to 2 years-

21. ‘.T:hmughhm experirment Kohler wanted
to prove that [earning is
(1) The perception of whole situntion
(<) Human learming is purposeful
(3) Better in animals than himan
beings.
(4} - An independent activity

22, Who propounded 'Five Step System’ of
lesson planning ?
(1) John Dewey
{2) Blaom
12} Kilpatrick
(4 Herbart-

;13. Whe described different types of
e LL |'o, M mﬂlﬂﬂﬁﬂ ﬁl:ll:ﬂ. 'I]'IH:




26, ), w, fwm i spgEr v o A
(1] st atatl o wEREY
(2] e e e
(3] s ue WA

26. grwbd sy 7
g o B |

' ) =
(3) wiieEE

(2) gz
%) B

u—pgnﬂﬂt ahject Tath:

o' this statement

A F ) ii HTI 1
() MeDougall 135
3 3 ; R
je concentration o *

T

mﬁ‘"'
Gk O

e
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T, 31 — B8 ¢ it TR T ) R it
U P BT

stifem wmt 218 et @ anl A R g
uaﬁwﬁﬂ&mw@&mﬁwﬂmmm
= vy figsy e, AR A T : \ 71 =
ﬂz—ﬁmﬁﬂrmwhwm
R & |t T T
T 5 A9 F A @ mmﬁmﬂ TR G AT
Ttaﬁsﬂﬁé@ﬁ fy 3 o o 3 e L 45

35.

a4, R GE A qEG wyreat Tien @ T

et T ot 7
(1) 12 =4 (21 80
(3 a5 (4] 3s=d°
Eﬁ:nﬁ"mm-ﬂ'ﬂf g7
(1) (2) A
o) wEmed () &
Eﬁl:ﬁm?ﬂ‘ﬂﬁmi

(2) @ T

()



43. ‘5’ iy ooy 2 w1 B 1

(1) =0 (2) ¥4
(3 v (4 A

45. el oA
(1) e P el o it e &
12) = % o 6
) wowber
[4) i % S 6 0 3

1

Ba.

et oy o vy T W A B
;]H?ﬁaﬁma (2) = @ A
(3) weET=] (4) k=

‘e’ yree g o -fawde
(1) B+ (2) e+ e
(3 B+ o (4) Fam o+ e

v 2w 7 et vy a1 R fere) O Al
St e &

1) s (2) =t

(3) i (4) = 3@

g o ) o T Y
e @) e
) el

3.

4.

e i - S



e W~ I/ PART - I
=11 : 3051 [ Language - I : ENGLISH

Thin is the house in

61, What kind ofadjectives are used inthe | &7 ani
fﬂ'ﬂmﬂ"mﬂm ? Ihhgl;:t?:m;i:um ia
A live ass is better than a dead lion. (1} A simple sentence
= (1) W {2} A compound - - pamplex sentence

Puality 13) A complex sentence
Indefinite {4 A compound sentence

4 &ﬂmﬂw

68, Fill in the blank

‘The dbjection was met out __

the lowver'.

(1) with (2) from
{31 by {H to
FII.'l in the blank :

of playing, the children

wenth-umn _
(1) Being tiredd (2} While tiring
(3} Having tired (4) On tiring

Jpin the following sentence in make a

) ffnqﬁc“ sentence -

‘l’h&%m‘tmﬂ Hl:mng,. It won't keep
f ‘The coffee isn't too strong o keep

_ ﬁtmﬂh isn't too strong 5o 88 10
: _:'Ehpﬁ?kﬂitlﬂr E*h
' ’wmﬂmmmnwnt




{ the following words %

ﬁ _ AP : / Whiﬂh ol 1
72, Choose the ww.q{.ﬂﬁmh L™ Adverb 7 . 2. The
the following sentence | 1) Apace jap Tury mes
Death lays his lcy hand on KI18% (3] Meck - (1)
(1) Metaphor  (2) Simie ) (@)
(3 n (4 Persois 78, Fillin the blanik with suitable Prona, (3]
T3, ﬂhﬂ'ﬂﬂﬂ“ﬁ;ﬁm o t -~ MF son and my d&;:gh!:er HI'€ Very i, 4)
the following : of ——
e guice sl () bersel Gl
o 2) T, | y selectl
(4) cach other hodh
] i R ronderft
jenice shot e r the &
g ) 79, wﬂ?ﬁ}mﬁiﬂgiﬂﬂﬂ E?tﬂ.tﬂplrgﬂ;l;m
(1) He is a big donkey. f:;jﬁ
(2} mmﬁ‘lmpa up when | behodipund ¢
o in the sky. L trick
bi tﬂ-—ﬁw eel memories fibbons
hood are a source of geand se

such g

'bﬂhthe child is as sofl gaspin

ol a rosc. up to
how it



% g9, Theidiom Ty ring one's own: bell’
means
(1) to think properiy
(2) to indulge in zelf praise

G, (3] to commit & theft
" (4) to be one's publicity agent
Direction - Read the passage below and answer
ﬁmq;.nwﬁnnaﬂmtfaﬂnw () No. B3 to 90)
by s it the ‘most appropriate option :
The childnm of M G Vidyalava, had a
1erd ”_”'Ehe:,’wm.m.puvuwd
e o and ﬁl}wme of
hold ¢

83. What does ‘mnoore’ mean ¢
{1) Never (2} Now
(3) Once more (4) Try

g4, What did Kim do in the end 7
(1} Performed the act once Agmn
(2) Sat down
(3) Newer performed the krick
(4] Smiled and disappeared

What does 'Century 'denote ¢
(1) A period of one year

(2] A period of hundred years
{3) A period of filty years

[4] A period of ten years

85.

What is the magician’s name T
(1] M. 0. Vidyalaya

(2) Kiran Rathod

(3) Kim Rathod

(4) Ravi

86.

87, What is the meaning of ‘raptivated’ ?
(1) Astonished
(2) Angered
Arrested
4] Honoured

mﬁmmﬁ'ﬂpﬁnmmm?

F e e



sy - 11 :Wf Language
61. =va v & a8

(1) #t (2
(3} -

(1) waHiw
i3 =ik

|

61,

62. ‘witn: wewmrd 6%.

T0.

71

|| g MMI |

- | e

) = 11/ PART - 111

- 11 : SANSERIT

m—aﬁmi‘mmmm#ﬂ
(1) = (=
(3) {4) ¥E

‘warfa wu R

(1) e M R, L S T
(1) 5 gy PR T A O
(3) 7 ST TR S T

‘o e a R
(1) Falgd-

(3) S enmd

‘avz weameT = E
(1} ERamEyd]
) 3L

(3) wHtTE AT
(# =gs2

[2] qamaH
(4) EsMmad

2 R
(=

(L v
(3) e

| 73, ST T s

ﬂi ] {2y e

(4) wifEeh

w7

1) T

>

"

(3l

‘ {1)

{2}
2}
(Bl

(1)
()

e R, o LR

r
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Sy A WA () ST U Gy

B2,

83.

vyl i v Ed: | TR wyaeft-are .

g SR () M| o i e |

Wm' w7 |
(1) = {2} o9
{3) M (4} e -

TR T WA T
(1) oo [2) F
[3) wE (4) e

mﬁﬁﬂ'ﬂﬁ WEETE WA [}
(1) wEE: (2) i
(3] w4 i

i 3 e B 7

(1 =& @) =
@1 (4) ¥

Bl & = T e | A



91.

i - IV/PART - TV T
i | MATHEMATICS h
b _¢€ alue of 212"
g b _© !"'h""':mﬂFlfl"ﬂ 91. H‘%:HF??M? Lue .
Wg=z=y W e
1) J2 (1 Jli
@ % ?) 7
{3 2 3 2
(4] 7 2 9.
T T : : 1991 was a Saturday,
\ Eﬁsmlwlﬁmmfﬂaﬁl - imsuf the w‘:nkwasﬂn
Jmﬁmmmwmﬂ?mf March 3, 1993 2
(1) T (1) Saturday
(8)) M {2) Tuesday-
3) o () (3] Sunday
(@) s (4) Monday.
i ‘ LN . - 1 ] 1 S 1) l)_‘z, g-l'
]| 53 Simpiiy H[E) ey ]_(4 1J
(1 11
1
12) 7
3
;2
(3 64



6
95 aﬁﬁﬁ ! Hmﬂ wafE 95, wﬁlﬁlﬁ o nci At

s wﬁﬂsﬁﬁfﬁ ) V345,95

: (3) None of these
3 45,4543
) ¥a,J3.35

96, Which measures of central tendency
get affected if the extreme observationsa
on both the ends of a data arranged
descending order are remoyed ?

{1} Mean and Median
12) Mode and Median
Iﬂ ﬁmﬂu&m-ﬁnﬂlﬂhﬂe
sbe of side 5 cm is painted on all its
it is sliced into 1 cm® cubes,
g cubiet ol 2 emt gL Hgve:




— S

| ¥ of igia T . WSS !ﬁ

99, 1w We W %\‘m‘l fvery it B (3 99. 3
. meter long pier,
ELka) %mm st &, 7w 0 il 1:::[2‘:‘[; ¥ :;, {n the mud. W
& ez s et ey st of g R (WA is the total length of the pole ? ()
CURE R R 4o 5
(1 21 dex (1) 21 mens 2)
@ 12 7 3) 12 metre
(3 3_@ iz (3) 30 motre (3)
4 25wzt |4) 25 metre
I| . ki i
100. .ﬁ-‘ﬂ‘ﬂ' % w12 PaiwAE | B | 100. A and B can do a piece of work
| C il Fm# 15 i § [ C A 12 days, B and C in 15 days, C =
s 20 R f A § | A s FE R A in 20 days. How long would A (254, f
‘ﬁm‘ﬂmt? sqpmtﬂ_-j' to do the same work 7 ¥
(1) 10 (1) 10 days t
[2) 40 days [
(3) 30 days t
(3) 20 days |
108 HOF of 2,32 21 =




| 103. A sguare and an pquileteral trinngle
have & side in commeon. I slde of triangle

te %/ em long, find the perimeter of the
figure obtained

(1) 6 em
12} 5£4:m
3

[3) l&em
g
(4) %(% +1]nm

104. Which of the fallowing rumbers 18
divisible by 59 2

(1) 114345
= [2) 3572406
b (3), 913462
(4) 135792

= 105. What isn ?
- ' (1) Rational nurmber
, (2} Integer

106. I£10% = 125, then value of 107 i
. J. EE i % 1“
i @ 3

i )



=

108, 50 # Sre s Qi A sl 6w

(1) 14 |2) 25
(3) 16 4) 13

109. amﬁwmﬂm@ﬁﬁw
%ﬂaﬁ?i-mtmﬁﬁm&wx
@#ﬂﬂﬂﬁg%ﬁhqﬁmmﬂ 9
wen w7
[3) 14,5 (4 11,9

-'lltﬂl o

P——E"-

109.

108, The number of

110.

111.

positive prims hmE
< 5018 13.
1) 14
|3) 16

@) 23
4) 15

Twice the jqrger of tWO pumbers is
maore than fiye Hmes the smaller .
the sum of four

three tHnes the s
{he numbers 7
(1) 43,8

(3} 14, 3

times the larger 14.

[I'.'Iil-]lﬂ-fi!- 71. Wh

@ 17,1
@ 11,9

with & side of & cm &n 15
with length 16 cm h
What is the breadth of!

A sguare
rectangle
sarme area-
rectangie 7
(1) dem-
[3) Bem

(2) 12 cm
(4] Bem
1

If cost price of an article is 2 of ite
selling price, then profit or |

R profit or loss
1) =:‘$‘%§-§rﬁmﬁt

G L



18 kntey, %

113. [3'}"31235 x 450 » 313 #Wﬁ

e ) @ BT

13) 2 (4 B
#rsis b,
ﬂ_m'ut: et fiw et e 6 4.5 &, 7 3 e
| What 4 1 Fm T

5, 7.7 8% 54.3.1,2
1 (1) 35 (@) 4.5
? @ 5 @ &

113,

114,

115,

116.

Digit of unit place in the product of

(378 x 236 = 450 x 312} 18
1

(1) &
(4) 8

(3) 2

what will be the median of the given
data if the mean |8 4,57
o T i ?| 8, X 51-"". o i j_

(1) 5:B (2) 4.5
3" 5 (4) B

Mosl imporiant person, related with
the method of ‘Analysis of Variance' in
Statistics

{1} R.A Fisher (2] Newton
(3) Laplace {4} Gauss
D, E, F are respectively the mud

points of A ABC. Which of the
following statement is correct 7

=55,




of a given .

E
5 : %
et 17, I “”‘hﬂﬁﬁwﬂ SN Ham,

iy e AT = As is A, GEOT he
117, uﬁﬁﬁi o e e oyt = H mmn-H.thfﬂ
#, (1) asG=H 21,
(1) asGzH (2) AzH20
(2 AzH=0 @ axG2H
{H: ’f"l:iz (4 asc=H
[4) A<Gs
. d the product o e
difference an 473l
118. ﬂﬂ.wmmm‘ o Mﬂﬂ?ﬂi o
& 81, 8 =7 =gl w H differen
5w 368, ;]T __5_-'
o 2 20
; 13.
9
| @ 2 S
il Je !
% L. {4 = 24
Who was the self taught Indisn
mathematical genius in 20" century
(1] Aryabhatta
f2) Harish Chandra 25

-lﬁmhﬂﬂinfnrwmm
and the length is twice it
height of the room is 11 ™

ilﬂﬁﬂngh
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L
WM ~ V/PART - V
| unfarofia steaas | ENVIRONMENTAL STUDIES
121, ﬁmmﬂ wrdr & 121. Most Biodiversity js found in
iﬂl s (1) Flower's Valley
'I_':ﬂ. i | (%) Dorang Valley
| _____,__..ﬂﬁi, (3) Silent Valley
[UR SihcE (4) Surma Valley

122, What is not trie for LPG 7
{1] Aclean fuel
(2) Methane emitting.
13) Bum with biue flame
14 High calorific value

123. The components of the ecosystem are
{1) Plants and animals
(3) Preducers, consumers and
""""" (4] Biotic and abiotic substance
124 ﬂf@u of Capricorn is
) 235 () 23°S

4 L E T \ "
maﬁ (@) 235 N




ELLE
(2] =
(3] W
(4) &

WHATE

[2) 1

Eid
LU

HIGH ey

it ‘of atmosphen
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132, A7geEe w1 AEE ER A T v o

mmwmmﬁ
ii}m

132. The main atmospheriec layer near the
surface of earth is
(1} Stratcsphere
2} lonosphere
|3 Mesosphere
(4} Troposphere.

133. The Biodiversity Act was passed by the
Indian Parliament
(1) 11% May, 1972
(2} 11" December, 2002
(3] 16" October, 1990
(4} 10% December, 1980

134. Which one of the following agriculture
n@mﬂ»ﬂ ia eco-friendly ?
I13 ‘Shifting cultivation

@ mﬁrming
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145, = T!'ﬁﬂ'ﬁl__ﬂ‘-tﬂﬂ‘ﬂ‘—'[ FEIET
(1) T

(24

TaEL R

(3) WSEWETH
f4) TR S

146, g 2w o b
() S T A
(@ ptael

(LI

R S e van

i et 3 shogs wfigeel a ait

145,

146.

147.

12

Where {8 the Wild Ags SATCULALY 7
(1} In Rajasthan

(2] In Bihar

(3] In Madhya Pradesh

(4] In Gujarat

Carbon dating refers to

(1) Measurement of strength of rocks

{2) All of these

(3} Use of carbon lor writing cn white
board

(4] Messurement of age of bones or
materials in ancient sites

The Constituent Assembly adopted
‘Mational Anthem on
{1.% 20 January 1950
13 November 1949
{3) 21 May 1949
|4) 24 January 1950

1} increasing concentration of &
tﬁm'::-aeuhstaﬂcﬁ in the tissues
& uﬂlﬂ



